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9 Give expressions for the sine-wave voltage signals having:
a. 5V peak amplitude and 1kHz frequency
o=2*n*1k = 6.2832k rad/sec => 8sin(6.2832kt) V
b. 120Vrms and 60Hz frequency
120% /2 sin(2n *60t) V
. 200mV peak-to-peak and 1000-rad/s frequency
0.1sin(10600) V
. 0.1V peak and 10ms period
0.1sin(2r *100t) V
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4a. H(s)=
(s +1,000)(s +100)

10,000(s +10)

H(s)=

Magnitude =>

Phase => DEGREES(ATAN{w/10)-ATAN(w/1000)-ATAN(w/100))

2
10,000*10 [33} +12
10

o (rad/sec) | Mag(dB) | Phase(Degrees) | . . . ... ... ‘=
0.1 0.00043 0.509913 20 e
0.8 | 0.027426 4.069728
0.9 | 0.034681 457555 T e —
1] 0.042775 5.080359
2 | 0.168579 10.04958 0 g —
3| 0.370319 14.809 383y men~gg
5| 0.958148 23.41617 f
6 | 1.319626 27.18636 -20
7 | 1.710421 30.58678
10 | 2.966652 38.71647 -30
100 | 16.9897 33.57881
1000 | 16.94692 -39.8623 -40
3000 | 9.995225 -69.8469 ,
4000 | 7.692824 746749 | 50
5000 | 5.848547 -77.6589 -
6000 | 4.316789 -79.6783
7000 | 3.009423 -81.1333
10000 | -0.04364 -83.7738
100000 | -20.0004 -89.3755
1000000 -40 -89.9375
Phase (Degree vs. »)
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H(s)=

10,000(s +10)
(s +1000)(s +100)

Bode Diagram
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